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QUESTION 1

You are sizing a new Azure NetApp Flies deployment and are documenting the throughput limit calculations within the
design. In this scenario, which two factors are used to accomplish this task? (Choose two.)

A. the quota that is assigned to the capacity pool
B. the service level of the capacity pool

C. the service level of the volume

D. the quota that is assigned to the volume

Correct Answer: AB

QUESTION 2

You re-engineer your on-premises Infrastructure and migrating workloads to the cloud. You are asked to consider a
hybrid cloud deployment.

Which two scenarios would highlight that a hybrid cloud deployment would be more appropriate for the workload in this
situation? (Choose two.)

A. when used to provide a guaranteed low latency solution for your analytics workloads
B. when specific data in your solution is not permitted to be moved to the cloud due to regulations or policies

C. when used to reduce management between your on-premises data center and remote locations by hosting part of
your architecture in the cloud

D. when used as a transition platform during a longer-term migration to a fully cloud-native solution

Correct Answer: CD

QUESTION 3

Exhibit.
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Software-defined Storage Service Levels ,
NetApp ONTAP designed with over 350 service providers and enterprises globally
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Referring to the exhibit, a volume in the Value storage service level is storing 10 TB of data. What is the maximum
number of IOPS that the volume would receive?

A. 1280
B. 5120
C.128
D. 512

Correct Answer: A

QUESTION 4

You deployed a custom application on AWS that uses MongoDB as the backend. The database files of MongoDB reside
on an iSCSI volume hosted on NetApp Cloud Volumes ONTAP in high availability mode.

In this scenario, what is required to provide fault tolerance for applications when one of the storage nodes fails?
A. ONTAP only

B. load balancer

C. Fabric Pool

D. iSCSI multipath 1/O on the client

Correct Answer: B

QUESTION 5

A customer has an on-premises data center with NetApp ONTAP storage. They have a Snapshot policy set up for their
volumes to create periodic Snapshot copies so that they can recover from those in case they lose their data. However,
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their IT architect wants to implement a solution that will enable them to restore volumes or individual files to their storage
on-premises or in the cloud.

In this scenario, which NetApp cloud service should be used to satisfy the requirement?
A. Cloud Backup service

B. Cloud Sync service

C. SaaS Backup

D. Cloud Volumes Service

Correct Answer: B
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